R:\A - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\FL-16216.1-.3.dwg, FL-16216.3

™

wR
WINDOWS & DOORS

250 Staunton Turnpike, Parkersburg, WV 26104

8800 Series
Vinyl Sliding Patio Door
"IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010 Florida
Building Code (FBC) structural requirements including the "High Velocity
Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

When used in the "HVHZ", this product complies with Section 1626 of the FBC
and does not require an impact resistant covering.

For 2x stud framing construction, anchoring of these units shall be the same as
that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

This product meets the water infiliration requirements for the "HVHZ".

TABLE OF CONTENTS

SHEET# | DESCRIPTION

] Typical elevation, design pressures & general notes

Horizontal and vertical cross sections

Buck & frame anchoring

Glozing detail & components

oW N

Bill of materials

— 96.0" MAX. OVERALL FRAME WIDTH

48.63" MAX. PANEL
WIDTH

41.63'"MAX.D.LO. _ _,

’“ WIDTH

96.0" MAX. OVERALL FRAME HEIGHT

91.63" MAX. PANEL HEIGHT
85.25" MAX. D.L.O. HEIGHT
X
O

VA

L Water Bar Required

96.0" x 96.0" 48.63" X 91.63" | 41.63" X 85.25"

+50.0

No. 9813

Certificate Of Authorizati
L; gi 9(.?0- P d

P.0. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Phone No.:
Florida Board of Professional Engineers

Ry

Documents Prepared By:

Lyndon F. Schmidt, P.E. No. 43409

8800 SERIES VINYL
SLIDING PATIO DOORS

PART OR ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

BY

NO.| DATE

REVISIONS

DATE: 4/02/13

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—16216.3

sHEET 1 oF 5

© 2013 R.W. BUILDING CONSULTANTS INC.



TON] BAINYLINSNDOD BSNIOHNG "M'd ELOZ @

BO¥CF ON “I'd 'IPIMUSS "4 uopuk) SNOISIATY

Fabe . SNOILI3S SSOHD
Eoh 28 WolNIA % WiNoZidoH |8 VA 0N} 1o (o] 2 |w]
€186 "OoNTuUCiDIUOY O SDIPIIED . / ) b —
wiseuSUs |DUCISESJOI4 jO PJDOE DPUOL SANTANISSY 80 1uvd o v O &
LE1B'6S°CIR FON Suoyd m 2 ] Mm 2_
se3CE 14 O3LIBA 057 %08 "O'd \Sv@. SH00G OlYd ONIONS < |glgle D
“ONI “SINVIINSNOD ONigIing TANIA S3I43S 0088 i w N ™ r
:Ag_pedodeld Bjuewinsog -12N00dd 3 m S m B
{dAL} -aw3
NIW ¥/
{dad) awa
NI /-1 @ 0
i A e
O -
474
S
= O3
W o
(] .m@
v
315z
oS8
—RE
|52
Size
=28
b Yat
mw
o
O
o
e ~
= -
- @)
2 2 &E
ig
e b

m HORIZONTAL CROSS SECTION

\2) Shown w/ 1X Buck

V4

]

3]
X ]
It 5 &

- o _ i -
= i iy A1 0
2 4 = v |G) S
) \ K SEETN
v _ @ === ,»mmw e
Tl 1) SRR W
T DS YR
| b -8 —”
- o _ (»Avf.....i..hmwﬂ, X

A

/"1 \ HORIZONTAL CROSS SECTION

\2/ Shown w/ 2X Buck

1-3/16" MIN.
EMB. {TYP.)

1-1/4" MIN.
EMB. (TYP.)

Z€ 'BMpE-19T29T-T\sBUMeIT DAMY ‘A\GDLT Jd\00ST - TOLT foad\siapiod 1dafoig\s1afold - VY



RM\A - Projects\Project Folders\Proj 1701 - 18C0\PF 1709\D. RWBC Drawings\FL-16216.1- 3.dwg, 3.3

MASONRY

7 {TYP.}

3" [1YP)

[a— 4" TYP.)

2X BUCK
N

(TyP.)

I
|
i
|
|
i
I
I
I
I
I
I
I
|
|
|
|
|
|
!
I
|

]
!
I
!
!
3
i
|
I

£ (1YP) —] I—~

18" MAX. O.C.
(TYP.)

OPENING ; B

CONCRETE ANCHOR NOTES:

distance and center distance requirements,

\ MEETING STILE

' SHOWN FOR

= : REF. ONLY -
|
| —
| il =
| &
|

i | |-

BUCK ANCHORING
MASONRY

3" (TYP.)

6" (TYP.)

E

3" [TYP)
| 6" (TYP.}

D ol
a7,
R

]

2X BUCK '/ -

—

|

& (TYP) —| |

3" {TYP.)
7" (TYP.) — =] T

SASH

|

1X BUCK |
PIRECTTO
MASONRY

. Substitution of equal concrete anchors from a different supplier may have different edge

. Concrete anchor locations at the corners may be adjusted fo mainfain the min. edge

distance to mortar joints. Concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

. Concrete anchor table:

/4"

1-1/4"

1/4"

1.1/4"

2X

HEAD (TYP. )

|

SILL {TYP.) I

n

1X BUCK

DIRECTTO
MASONR

JAMB {TYP.)

MEETING STILE
SHOWN FOR
REF. ONLY

4" {TYP)

e 6" [TYP)

6" [TYP.) —=]

1 1“;3!

N

II HEAD (TYP.) 1X BUCK
) || @ e |
FRAME JAMBTIYP) RAME
MASONRY SILL (TYP,) I \ MASONRY
OPENING MEETING STLE  ~ OPENING
II SHOWN FOR =
REF. ONLY =
- | Al o
: { Ll ] L1l O
. EREN N :
FRAME ANCHORING

FRAME ANCHORING

1X Buck, Direct to Masonry

21"0.C. {TYP.)

Documents Prepared By:

BUILDING CONSULTANTS, INC.
P.O. Box 230 valrico FL. 33595
B13.659.8197

Phone Ne.:
Florida Beoard of Professioncl Engineers

Certificate Of Authorization NMNo. 9813

Ry

47'%5/_?0 P

Lyndon F. Schrmidt, P.E. No. 43409

8800 SERIES VINYL
SLIDING PATIO DOORS

PART OR ASSEMBLY:

PRODUCT:

BUCK & FRAME
ANCHORING

BY

NOi DATE

REVISIONS

DaTE: 4/02/13

scalE:  N.T.S.

DWG. BY: JK

LFS

CHK. BY:

DRAWING NO.:
FL-16216.3

SHEEY 3 oF 5

© 2013 R.W. BUILDING CONSULTANTS ING.



RAA - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\FL-16216.1-.3.dwg, 3.4

0.08" e f—

o

]
@j
LJ

( : ) FRAME HEAD

1

. GLAZING BEAD

1.31"

KRVA m—ﬂ

=] C_ 1=

0.08"

s

( : )STH.E. RAIL

27"

1

ﬂ 1.08" |:m

0.08"

. REINFORCEMENT
Meeting rail

0.5

GLASS BITE

—- 5.44" }

2.36"

153 ]

(: :) FRAME SiLL

»’ 108" | N

201"

0.05" —s|—=—

1

( ::> REINFORCEMENT
Stile

—— 7/8" THICK GLASS

= S Cé I
: S~ 1/8" ANNEALED
:s AR SPACE
] S 1/8" TEMPERED

1/8" ANNEALED
0.090" DUPONT SENTRYGLAS® INTERLAYER

¥/

@ d : \ DURASEAL SPACER

@ SILICONE {SIKA 552)

(: :) GLAZING DETAIL

i 0w Q1m
5 L . O
N e
Em £,5%42
- Do\
Y %9
LE oW o
whr- " g rd
23a 2]
L7 c 4
Hto 2 ofd a
A>M 2% ;
- w N s
20w BT b
- OmMm “ o E
.3(2952‘54 @
E 8 ees Vu
D.woDU c
PRoa 82 g
o [+} o
o B 5,
2 Tk 3
T [
[ S o
£ [ra &
3
(3
Q
a
,_ald? <
=0
8| 2
I=
w {L:.I
e |y L2
= = >—QD
k< |# a
et |z ox
o i £35S
D= %NU
.28 193
6l%a (g ©
8 o
ol |E
o a
>_
m
N
=
o
2}
|
o
e
<L
]
o
z
DATE: 4,/02/13
SCALE: N.T.S.
DWG, BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—-16216.3

sHEET 4 oF 5

© 2013 R.W. BUlLDING CONBULTANTS ING.



R\A - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\FL-16216.1-.3.dwg, 3.3

¥ Po- o7

P.O. Box 230 Valrice FL. 33595
Lyndon F. Schmidt, P.E. No. 43409

BUILDING CONSULTANTS, INC.
FPhone No.: 813.655.9197
Florida Board of Professional Engineaers

Certificate ZAuth izati Ne. 9813

Ry

Documents Prepared By:

29 |FOAMPLUG -
30 {1 HEAD WEATHERSEAL -
31 | #8X 1-1/4" PAN HEAD, QUADREX, SCREW STEEL
32 [ SASH STOPPER EPDM
33 | WEATHERSTRIP -
34 | FRAME JAMB* PVC
35 [ WEATHERSTRIP -
39 [HANDLEKN STEEL
40 | OPERATING PANEL SIDE STILE* PVC
42 | KEEPER FOR SCREEN -
43 | #4X 5/8" PAN HEAD QUADREX SCREW STEEL
44 | #10 X 2-1/2" PPH SCREW STEEL
45 | #10X 1-3/4" PPH SCREW STEEL
46 | STAINLESS STEEL DOUBLE POINT MORTISE LOCK KIT STEEL
47 | SASH COVERING CAP* PVC
48 [LOCK PLUG* PVC
50 | STILE REINFORCEMENT STEEL
51 1 #8 X 2" TRUSS HEAD QUADREX SCREW STEEL
52 | INTERLOCK ALUM
53 I STILE REINFORCEMENT STEEL
54 | Q-LON WEATHERSTRIP (SCHLEGEL NO. QEZ 345) -
55 | WATER BAR ALUM
56 | #8 X 1" PPH SMS SS

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

A | 1XBUCKSG>=0.55 WwOOD
B | 2XBUCKSG >=0.55 WOOD
C [ 1/4" MAX. SHIM SPACE -

D | 1/4"X2-3/4"ELCO OR TW CONCRETE SCREW STEEL
E MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING 10 ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F o ]1/4" X 1-3/4" ELCO OR ITW CONCRETE SCREW STEEL
G_ [1/4"X 3-3/4"ELCO OR [TW CONCRETE SCREW STEEL
H | #10 X 5/8"FH SMS STEEL

| FRAME HEAD* PVC
2 | #8x2-3/4" FH QUADREX WOOD SCREW STEEL
3 | WEATHERSTRIP (SCHLEGEL #HF-7522-270} -

4 | HEAD TRACK* PVC
5 | STILE & RAIL® PVC
6 | SETTING BLOCK -

9 | SHM -

10 | TANDEM WHEEL NYLON
11 | ROLLING RAIL ALUM
12 | SILL* PVC
13 1 SILL DUST COVER* PVC
14 | SILLPLUG NYLON
15 | SILL WEATHERSEAL -

17 | LEFT CAP FOR SILL ADAPTER* PVC
18 | RIGHT CAP FOR SILL ADAPTER* PVC
19 [ #8 X 5/8" PAN HEAD, SQUARE, SELF-DRILLING SCREW STEEL
20 [ OUTSIDE SILL CLADDING ALUM
22 | INSECT STOP -
23 1 SCREEN -
24 | #8 X 7/8"' PAN HEAD, QUADREX, SCREW STEEL
25 | FIXED PANEL ANCHOR BLOCK* PVC
26 | ANCHOR STRAP STEEL
27 [ SCREW CAP NYLON
28 [ GLAZING BEAD* PVC

* THE APPROVED WHITE RIGID PVC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE

PRODUCED BY EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR

RIGID PVC EXTRUSIONS".

8800 SERIES VINYL
SLIDING PATIC DOORS

PART QR ASSEMBLY:
BILL OF MATERIALS

PRODUCT:

BY

REVISIONS

NOJ DATE

oaTE: 4/02/13

SCALE: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-16216.3

SHEET 5 of 5

© 2013 RW, BUILDING BONSULTANTS ING.



